Kangourou Cyprus 2012 — Benjamin Level 5-6

MpoBAnuata 3 povadwyv / 3 point problems

1. O BaoiAng Badel to cuvOnua VIVAT KANGAROO o¢ €va toixo. O¢AeL ta SladopeTikd ypappaTa va
o Bael pe S10pOPETIKO XpWHA, KAL TA (Lo yPAUUOTA VO XPWHATLOTOUV TO 1810. Mdoa xpwpata Ba
XpELaoTOLV;

Basil paints the slogan VIVAT KANGAROO on a wall. He wants the different letters to be coloured
differently, and the same letters to be coloured identically. How many colours will he needed?

(A)7 (B) 8 ()9 (D) 10 () 13

2.'Eva palpog mivakag £xel 6 m pnkog. To HAKOG Tou peoaiou pépoug eivat 3 m. Ta GAAa dUo
KOUUATLA £XOUV TO (610 mMAdToC. Mdoo mAaty sival to §€L6 KOUUATL;

A blackboard is 6 m length. The length of the middle part is 3 m. The two other parts have equal
width. How wide is the right part?

3m ?
(A)1m (B) 1,25 m (C)1,5m (D)1,75m (E)2m

3. H ZaMAu pnopet va BaAel 4 vopiopata o€ €va TeTpaywvo dptiaypévo anod 4 omnipta (BAEmne To
oxnua). Moéca omnipta Ba XpeLACTOUV TOUAGXLOTO WOTE VA OXESLOOTEL £val TETPAYWVO TIOU VA
TepLEXEL 16 voulopata ta omola va Ny eMKaAUTITOVTAL;

Sally can put 4 coins in a square built with 4 matches (see picture). At least how many matches will
she need in order to build a square containing 16 coins that should not overlap?

(A) 8 (B) 10 (C) 12 (D) 15 ~ (F)16

4. Ye éva aePOTTAAVO, OL OELPEC opLlOpouvTaL amo to 1 péxpt to 25, al\d Sev UTIAPXEL OELPA UE
oplOuod 13. H oslpd pe apBuod 15 xel povo 4 Béosig emPatwy, OAeG oL GAAEC €xouv 6 BEoELC
ermuPBatwv. Mooeg Boelg eTUPATWVY EXELTO OEPOTIAAVO;

In an airplane, the rows are numbered from 1 to 25, but there is no row number 13. Row number 15
has only 4 passenger seats, all the rest have 6 passenger seats. How many seats for passengers are
there in that airplane?



(A) 120 (B) 138 (C) 142 (D) 144 (E) 150

5. 0tav eivat 4 n wpa to andyeupoa oto Aovdivo, ival 5 n wpa to anoysupa otn Madpitn kat eivat
8 n wpa to mpwi tnv bl pépa otov Ayto Opaykioko. H Avva mrjye yia Umvo otov Aylo Opaykioko
oTLG 9 N wpa xBeg Bpadu. Mola NTav n wpa otnv Madpitn ekeivn TN OTYUR;

(A) 6 n wpa xBeg To Mpwi

(B) 6 n wpa xBe¢ to Ppadu

(C) 12 n wpa xBeg TO amdyevpa

(D) 12 n wpa Ta pecdavuyta

(E) 6 n wpa To Mpwi

When it is 4 o'clock in the afternoon in London, it is 5 o'clock in the afternoon in Madrid and it is 8
o'clock in the morning on the same day in San Francisco. Ann went to bed in San Francisco at 9
o'clock yesterday evening. What was the time in Madrid at that moment?

(A) 6 o'clock yesterday morning

(B) 6 o'clock yesterday evening

(C) 12 o'clock yesterday afternoon

(D) 12 o'clock midnight

(E) 6 o'clock this morning

6. 2TNV €lkOvVa SNULOUPYOUUE £va VEO oxXHa cuVEEovTacg OAa TA PECO YELTOVIKWY EEQYWVWV.
In the picture we draw a new pattern by connecting all the midpoints of any neighbouring hexagons.

Molo ox£610 Ba mapoue;
What pattern do we get?
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(C) (D) (E)

(A) (B)

7. NpooBétoupe Tov aplBuo 3 otov aplBuod 6. Metd moANATAACLAIOUE TO OIMOTEAEGHA UE 2 KOl
peTa tpooB£toupe 1. MEeTA To TEALKO amoTtéAeopo Ba elval To 1510 OTWCE TO OMOTEAECUA TWV
npaéswv:
To the number 6 we add 3. Then we multiply the result by 2 and then we add 1. Then the final result
will be the same as the result of the computation:
(A)6+3-2)+1 B)6+3-2+1 Q®+3)-2+1
D) 6+3)-2+1 (E)6+3-(2+1)



8. To Gvw vouLlopa TeploTpEdeTal XwpPLig va KUAA yUpw amod otabepd KATW VOULopa oth B€on mou
dalvetal. Molo elval to anotéAeopa Twv BEoewv Twv Kavykoupo;

The upper coin is rotated without sliding around the fixed lower coin to a position shown on the
picture. Which is the resulting relative position of kangaroos?

(E) e€aptatat amod tnv TaxutnTta tne neplotpodrc/ depends on the rotation speed

9.'Eva pumoAovL propei va onkwoet éva KaAdBL ou meptéxel uAka Bapoug 80 kg to moAu. Avo tétola
UTTaAOVLOL UTTOPOUV VA GNKWOoUV To (610 KoAaBL dtav meptéxel uAA Bapoug 180 kg. Moto sivat to
Bdapog tou kaAabiou;

One balloon can lift a basket containing items of weight at most 80 kg. Two such balloons can lift the
same basket containing items of weight at most 180 kg. What is the weight of the basket?

max 80 kg  max 180 kg

(A) 10 kg (B) 20 kg (C) 30 kg (D) 40 kg (E) 50 kg

10. H B{BLawv kat o MiyaAng mipav pnAa kot oaxAddia amno tnv ylayld touc. Eixav 25 kopudtia ano
dpouTa oto kahdabL 6Aa pall. Evw myawvav omitt n BiBlav édaye éva pnio kat tpia axAadia, o
MuxaAng ébaye 3 unAa kat 2 axAadia. Otav édptacav oto onitt avakaluav OTL Epepav omitL Tov
1610 aplBuo ayAadiwy kot pRAwy. Nooca axAadla mHpav amno Tn ylayLd Toug;

Vivien and Mike got apples and pears from their grandmother. They had 25 pieces of fruit in their
basket altogether. On the way home Vivien ate one apple and three pears, Mike ate 3 apples and 2
pears. At home they found out that they brought home the same number of pears as apples. How



many pears did they get from their grandmother?
(A) 12 (B) 13 (C)16 (D) 20 (E) 21

NpoBAnuata 4 uovadwyv / 4 point problems
11. Mola tpla amno ta apBunuéva KOUUATLA TTATA TIPEMEL VA TIPOCBELCELG OTNV ELKOVA WOTE Va

CUMITANPwOEL TO TETPpAYyWVO;
Which three of the numbered puzzle pieces should you add to the picture to complete the square?
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(A)1,3,4 (B)1,3,6 (€)2,3,5 (D)2,3,6 (E)2,5,6

12. H Aifa €xeL 8 Lapla pe Ta ypappata A, B, C kat D, pe idla ypappota og OAeC TI¢ OYeLg Tou {aplou.
Anploupyel éva peydlo KUBo pe autd onwg pailvetal oTo oxuoL.
Lisa has 8 dice with the letters A, B, C and D, the same letter on all sides of each die. She builds a

block with them as shown.
ﬁaa
AN

P
AVo Suthava Japla £xouv tavta SlodopeTika ypappata. Moo ypdaupa Bpioketol mavw oto {dpL Tou
Sev umopel va pavei oto oxnua;
Two adjacent dice have always different letters. What letter is on the die that cannot be seen on the
picture?

(A) A (B)B (c)c
(D)D (E) AdUvarto va moUpe/Impossible to say



13. Yndpyouv mévte moAelg oto Mayvidotomno. Onolecdnnote U0 MOAELG EVWVOVTOL UE €va SpOLO,
gite opatod eite adpato. 2to xaptn tou MNayvidotomnou, UTtAPXoUV LOVO eNTA opatol Spopol. H AAikn
£XEL LOYIKA YUAALA: OTAV KOLTALEL TO XAPTN HECW AUTWV TWV YUOALWV UIMopEl Hovo va SeL Toug
Spopoug mou elval adpatol. Nocoug adpatous Spououg unopel va dey;

There are five cities in Wonderland. Any two cities are connected by one road, either visible or
invisible. On the map of Wonderland, there are only seven visible roads. Alice has magical glasses:
when she sees the map through these glasses she can only see the roads that are invisible
otherwise. How many invisible roads can she see?

(A)9 (B) 8 ()7 (D)3 (E) 2

14. OL duoikol aplBuol xpwpuatilovral KOKKLVOL, UTTAE 1) tpactvoL: To 1 elval KOKKLVO, TO 2 elval UITAE,
To 3 gival mpaowo, To 4 elval KOKKLVO, TO 5 gival HitAg, To 6 gival MpAaowvo K.o.K. Molo xpwpa pmopel
va eilval to Bpolopa Tou KOKKLVOU aplBpoU Kot Tou UrAe aplOpou;

The natural numbers are coloured red, blue or green: 1 is red, 2 is blue, 3 is green, 4 is red, 5 is blue,
6 is green, and so on. What colour can be the number of the sum of a red number and a blue
number?

(A) adUvarto va oupe/impossible to say (B) kOkkwo N purAe/red or blue

(C) uoévo mpacwvo/only green (D) pwovo kokkwo/only red  (E) povo pme/only blue

15. H meplUeTpOC TOU TILO KATW OXNUATOG, TO OTOLo KTIoTNKE pe bla TeTpaywva, eival ion pe 42 cm.
Moo ivat to epPadod Tou oxAUATOC;

The perimeter of the figure below, built up of identical squares, is equal to 42 cm. What is the area
of the figure?

(A) 8 cm? (B) 9 cm? (C) 24 cm? (D) 72 cm? (E) 128 cm®

16. Mapatnpnoe ta oxnuata. Ta duo oxuata €xouv dSnuloupynBel amnod ta idla mévte koppdrtia. To
opBoywvio elval 5 X 10 ( og ekatootd) kol Ta urtoAouta pépn eival tétapta SUo SLadopeTIKWY
KUKAwv. H dladopd petafd Twv MePLUETPWY TOUC Elval:

Look at the pictures. Both figures are formed from the same five pieces. The rectangle is

5 X 10 (in centimetres) and the other parts are quarters of two different circles. The difference
between their perimeters is :



(A)2.5cm

(B) 5cm
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(C) 10 cm

L

(D) 20 cm

(E)30cm



17. TomoB£tnoe toug aplBuoug 1 péxpl 7 mavw oToug KUKAOUG, WOTE TO ABpoLopa TwV aplOpwy o
kaBe oelpad eival to i6lo. MNolog eivat 0 aplBpog oTov KUKAO TOU TPLYWVOU Ttou BploKeTal oTtnv
KopudH;

Place the numbers from 1 to 7 in the circles, so that the sum of the numbers on each line is the
same. What is the number at the top circle of the triangle?

_/

(A)1 (B)3 (C) 4 (D)5 (E) 6

18. Mia Aaotiyévia UraAa mEDTeL amod TV opodr) evog omitiol UPoug 10 pétpwy. Metd amo Kabe
nipookpouon oto £6adog avarnndd nicw peExpt ta 4/5 tou ponyoupevou UPoug. MNooeg dopég
gudavileTal N UMAAo UMPOOoTA Ao TO MoPABUPOo TOU OToIioU N KATW MAEUPA TOU Ttapabupou £xeL
OPog 5 pETpa KaL N Avw TIAEUPA €xeL UPOG 6 HETPQ;

A rubber ball falls from the roof of a house of height 10 meters. After each impact on the ground it
bounces back up to % of the previous height. How many times will the ball appear in front of a

window whose bottom edge has a height of 5 meters and whose top edge has a height of 6 meters?
(A)3 (B) 4 (€5 (D)6 (E) 8

19. Ynapyouv 4 odovtwrtol tpoxol dimha o évag otov aAAo. O mpwtog £xet 30 8évtia, o deutepog 15,
o tpitog 60 Kkat o teAeutaiog 10. MGcOUC YUPOUG KAVEL O TEAEUTALOC 08OVTWTOG TPOXOC, OTAV O
TMPWTOC 080VIWTOG TPOXOC KAVEL Eva yUPO;

There are 4 gearwheels next to each other. The first one has 30 gears, the second one 15, the third
one 60 and the last one 10. How many rounds does the last gearwheel roll, when the first one rolls
one round?

(A)3 (B) 4 (C)6 (D)8 (E)9



20. Eva KOWVOVLKO OKTAYWVO SITAWVETAL OTO HLoO aKpLPwG TPeic dopEg LEXPL VA OXNUATLOTEL
Tpilywvo.
A regular octagon is folded in half exactly three times until a triangle is obtained.

: ‘ A <

MeTtd to Tpiywvo koBetal og opbn ywvia omwe daivetat oto oxrpa. Otav 1o xapti EeSuTAwveTtal mwg
Ba daiveray

Then the apex is cut off in a right angle as shown in the picture. If the paper is unfolded what will it
look like?

(A) : (B) : (€) : (D) (E) :

NMpoBAnuata 5 povadwv / 5 point problems

21. 3tnv popvada tou Winnie ano EudL-kpaoi-vepd umdpyouv EU6L kal kpaot pe Adyo 1 mpog 2.
Kpaot kat vepo umdpyxet pe Adyo 3 mpog 1. Mota amd TIG Lo KATW TPOTACELS LOXUEL;

In Winnie's vinegar-wine-water marinade there are vinegar and wine at a ratio of 1 to 2. Wine and
water are at a ratio of 3 to 1. Which of the following statements is true?

(A) Yrapyel meplocotepo EUSL amo kpaoi/There is more vinegar than wine.

(B) Ymapyel meplocotepo Kpaot armod E0L kat vepo pali/ There is more wine than vinegar and water
together.

(C) Ymapyel meplocotepo E0SL amd kpaot kat vepo pali/There is more vinegar than wine and water
together.

(D) Yridpyel meplooodtepo vepO amo EUSL kal kpaoi pali/There is more water than vinegar and wine
together.

(E) Yrapyet eAdyxioto €08 Vinegar is contained least.

22. H Maipn éxet £va Zevyapt amd PoAidt kot TEvte ypappota ano xaptovl. KoBel to kabe ypaupa
pLa dopa (o eubeia ypapun) wote va polpaotel oe 660 to Suvato neplocdTeEPA KOUUATLA. Mol
YpAUUa SLVEL TO TIEPLOCOTEPOA KOUUATLO

Mary has a pair of scissors and five cardboard letters. She cuts every letter only once (along a
straight line) so that it falls apart in as many pieces as possible. Which letter yields most pieces?

(A) @ (B)B (€ S (D) (E)




23. Yruipxav 12 maudid oe éva maptt yevebAiwyv. To madid ftav nAwkiog 6,7,8,9 kat 10 xpovwv.
Téooepa amd autd ATav 6 xpovwv. H o cuvnOng nAwia otnv opdada ntav 8 xpovwv. Molog sivat o
METOC 0pog NALKiag Twy 12 matsdwy;

There were 12 children in a birthday party. The children were aged 6, 7, 8, 9 and 10 years. Four of
them were 6 years old. In the group the most common age is 8 years old. What was the average age
of the 12 children?

(A) 6 (B) 6.5 (7 (D) 7.5 (E) 8

24. To opBoywvio ABCD tepayiotnke og 4 pikpotepa opBoywvia Onwg ¢aivetal mo Katw. H
TEPLUETPOG TPLWV amod autd eivat 11,16 kat 19. H nepipetpog Tou TeTdptou opBoywviou dev eival
oUTE N HeyaAUTEPN OUTE N UKpOTePN. Na BpeBel n mepipetpog Tou apyikou opBoywviou ABCD.
Rectangle ABCD was cut on 4 smaller rectangles in a way shown on the figure. The perimeters of
three of them are 11, 16 and 19. The perimeter of the fourth rectangle is neither the biggest nor the
smallest. Find the perimeter of the original rectangle ABCD.

B C

A D
(A) 28 (B) 30 (C) 32 (D) 38 (E) 40

25.TornoBetol e Toug Swdeka aplBUoUc amo to 1 péxpl to 12 o KUKAO WOTE OMOLOLONTIOTE
vettovikol aplBpol StadEpouv mavra katd 1 1 2; Mool amoé Toug Mo KATw aplBuoug PEMEL va elval
VELTOVLIKOL;

We arrange the twelve numbers from 1 to 12 in a circle such that any neighbouring numbers always
differ by either 1 or 2. Which of the following numbers have to be neighbours?

O
IR

(A) 5 kat/and 6 (B) 10 kat/and 9 (C) 6 kat/and 7 (D) 8 ka/and 10 (E) 4 xa/and 3

26. O MNétpog BéAeL va Tepayiost éva opBoywvio pueyeBoug 6 X 7 o€ TETPAYWVA E AKEPOLEG TIAEUPEC.
Molog elval 0 KPOTEPOC APLOUO TETPAYWVWV TTOU UIMOPEL ApPEL;

Peter wants to cut a rectangle of size 6 X 7 into squares with integer sides. What is the minimum
number of squares he can get?

(A) 4 (B)5 (7 (D)9 (E) 42

27. Kamolo TETpaywvakLo TOU TETPAYWVICHEVOU Tiivaka peyéBoug 4 X 4 xpwpatiotnkav kokkwa. O
0pLOUOC TWV KOKKIVWVY TETPAYWVWY O KAOE oelpd onUeLWBNKe 0To TEAOG TNC, KAl 0 aplOUOC Twy
KOKKLVWV TETPAYWVWVY OE KAOe 0TAAN ONUELWONKE 0TO KATW HEPOC TNG. META TOL KOKKLVOL XPWHATA
oBnotnkayv. Moldg amnod Toug Lo KATW TVOKEG UMOPEL va elval To amoTéAeouQ;

Some cells of the square table of size 4 X 4 were colored red. The number of red cells in each row
was indicated at the end of it, and the number of red cells in each column was indicated at the



bottom of it. Then the red colour was eliminated. Which of the following tables can be the result?

4 3 2

1
2 2 3 1
1 1 0 2
1 3 0 2

= lw|jlw|lo

(A) (D)2122 (E)0313

(B) (€)

28. Eva KOJUATL XapTlol oxuatog TeTpaywvou SumAwdnke dUo dopég omwe daivetal oto oxESLo.
No Bpebei to aBpolopa tou epPfadol twv oklaypadpnuévwy opBoywviwy, yvwpilovtog otL To
eUPadS TOU apxIKoU TETpaYWVOU ivat 64 cm?.

A square-shaped piece of paper was folded twice as shown in the picture. Find the sum of the areas
of the shaded rectangles, knowing that the area of the original square is 64 cm®.

(A) 10 cm® (B) 14 cm? (C) 15 cm? (D) 16 cm? (E) 24 cm’®

29. Ot aplBuol Twv TPLWV OTILTLWY TIOU HEVW €Yw Kal ol ¢pihot pou oxnuartilovral pe ta idla Pndia;
abc, bc, c. N'vwpilovtag 0tL To cUVOAO Tou¢ eivat 912, va Bpebel n T tou b.

The numbers of the three houses my friends and | live in are formed with the same digits: abc, bc, c.
Knowing that their sum equals 912, find the value of b.

(A)3 (B) 4 ()5 (D)6 (E)O

30. Aivw otnv Avva Kot otov BaotAn Suo dtadoxikolg BeTikoUg aképaloug (yLo mapadelypa n Avva
1o 7 Kal 0 BaoiAng to 6). N'vwpilouv otL ot aptBuot eivat Stadoyikol, yvwpilouv To aplBuod toug oAAd
Sev yvwpilouv tov aplBuo mou £édwoa otov dAo. Metd dkouoa TNV €€n¢ oulitnon: n Avva sine oto
Baciln: “Asv yvwpilw tov aplBud”. O Bacilng eine otnv Avva: “Asv yvwpilw tov aptBuod”. Meta n
Avva eimne otov Baoin: “Twpa yvwpilw tov aplBud cou!”, Molog eivat o aptBudc tng Avvag;

| give Ann and Bill two consecutive positive integers (for instance Ann 7 and Bill 6). They know their
numbers are consecutive, they know their own number, but they do not know the number | gave to
the other one. Then | heard the following discussion: Ann said to Bill: "l don't know your number".
Bill said to Ann: "l don't know your number". Then Ann said to Bill: "Now | know your number!"
What is Ann's number?

(A)1 (B)2 ()3 (D)4 (E) 5



